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(IHNWLYLWDV 3HODNVDQDDQ�.HELMDNDQ�
0HWHU�3UDED\DU�3DGD�37�3/1�
3HUVHUR�:LOD\DK�.HUMD�8/3�
,QGDUXQJ�

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� HIHNWLYLWDV� SHODNVDQDDQ�
NHELMDNDQ� PHWHU� SUDED\DU�� IDNWRU� \DQJ� PHPSHQJDUXKL� HIHNWLYLWDV� SHODNVDQDDQ�
NHELMDNDQ� GDQ� XSD\D� RSWLPDOLVDVL� HIHNWLYLWDV� SHODNVDQDDQ� NHELMDNDQ� � SDGD� 37��
3/1�3HUVHUR�:LOD\DK�NHUMD�8/3� ,QGDUXQJ��/DWDU�EHODNDQJ�SHQHOLWLDQ� LQL� DGDODK�
SHQJJXQD�WHUEDQ\DN�PHWHU�SUDED\DU�GL�ZLOD\DK�NHUMD�8/3�,QGDUXQJ��GLEDQGLQJNDQ�
ZLOD\DK�NHUMD�8/3� ODLQ\D�GL�.RWD�3DGDQJ�� -HQLV� SHQHOLWLDQ� LQL� DGDODK�SHQHOLWLDQ�
NXDOLWDWLI�GHQJDQ�PHQJJXQDNDQ�PHWRGH�GHVNULSWLI��

3HQHOLWLDQ� LQL� GLODNXNDQ� GL� 37�� 3/1� 3HUVHUR� 8/3� ,QGDUXQJ�� ,QIRUPDQ�
SHQHOLWLDQ� LQL� GLWHQWXNDQ� VHFDUD� SXUSRVLYH� VDPSOLQJ�� 'DWD� \DQJ� GLNXPSXONDQ�
\DNQL� EHUXSD� GDWD� SULPHU� GDQ� GDWD� VHNXQGHU� PHODOXL� ZDZDQFDUD� GDQ� VWXGL�
GRNXPHQWDVL��8ML�NHDEVDKDQ�GDWD�GLODNXNDQ�GHQJDQ�GLODNXNDQ�GHQJDQ�WULDQJXODVL�
VXPEHU�� 'DWD� DQDOLVLV� \DQJ� PHODOXL� WDKDS� SHQJXPSXODQ� GDWD�� UHGXNVL� GDWD��
SHQJXMLDQ�GDWD��GDQ�SHQDULN�NHVLPSXODQ��

+DVLO� SHQHOLWLDQ� LQL� PHQXQMXNDQ� EDKZD� � SHODNVDQDDQ� NHELMDNDQ� PHWHU�
SUDED\DU� SDGD� 37�� 3/1� 3HUVHUR� ZLOD\DK� NHUMD� 8/3� ,QGDUXQJ� VXGDK� GDSDW�
GLNDWDNDQ�HIHNWLI� \DQJ�PHQJDFX�SDGD�SHQJXNXUDQ�HIHNWLYLWDV�\DQJ�GLNHPXNDNDQ�
ROHK� &DPSEHOO� \DQJ� PHOLSXWL� NHEHUKDVLODQ� SURJUDP� �� NHEHUKDVLODQ� VDVDUDQ��
NHSXDVDQ�WHUKDGDS�SURJUDP�GDQ�3HQFDSDLDQ�WXMXDQ�PHQ\HOXUXK��
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